Solutions for Class 7 Maths Chapter 9 Parimaap Aur
Kshetrafal Ex 9.1

Y 1.
9 ¥ Ud® IHRR Iqus &1 &% d J1d HI ;

Bd:

(a) AR IqY FT &TFHd
= 3R x Hdls

= (7 x 4) cm?

=28 cm

(b) FATR TGS BT &G
= 3R x Hdls
= (5% 3)cm?=15cm

(c) FHIR TGS T &b
= TYR x SHdls

= (2.5 x 3.5) cm? =8.75 cm

(d) FHIRR IGYS BT &bl
= YR x HATS
= (5 x 4.8) cm? = 24 cm



(e) THIR IGYS P &AHT
= YR x STy
=(2x4.4)cm?=8.8cm

Ty 2.
9 & v AYS &1 &7hd 1 HIfo ;

a

ﬁaﬁrmaaw
2 x 3R x $aTg

= (125 x 4 x 3) cm? = 6 cm
(b) B &1 &% a

= 125 x 3MYR x HS

= (125 x 5 x32) cm? = 8 cm
(c) AYS &1 &ha

= 125 x 3MYR x HS

= (125 x 3 x 4)cm? = 6 em
(d)ﬁﬂﬂweam

= 125 x YR x Hag
=(12%><3><2)cm2

=3 cm?

—~

a)
1



Uy 3.
Rad RIT &1 7F J1d HIE

Bal:
B STHd AR Igy &1 &5 = TR x $a7s g9y Rad R &1 T0FT 39 JHR
g

Uy 4.
e RITHT BT 71 I1d DI
Bd:
g9 OFd §
BT T §Ehe = 122 x 3MUR x $alg
2 89w
0 YR = iﬁlﬁ
s 2 §IFd
S = YR



T 5.
PQRS T& GHR IqH & (3MHfa @) 1aM i Q § SR T 1 FHarg aur oN e J
PS d% &I $a1 &1 Al SR = 12 cm 31 OM = 7.6 cm dl 1d BT :

(a) THTR IgYS PORS &1 850 d

(b) QN, TfE PS =8 cm

P

Bal:

(a) PQRS THTR IqYS &1 80 d = TUR x a5 = SR x QM = (12 x 7.6) cm? = 91.2
2

cm

(b) TR IS PQRS &1 &6

= 3MYR - $Tg S,

PS x QN = JATR IgYsl PQRS &1 &6
T8 x QN = 91.2

91.2

I QN = 91.28T cm = 11.4 cm 3T}

Y 6.
DL 3fR BM FHR Igysl ABCD I HHTT: YSITY AB 3R AD TR aW ¢ ( 3ATHid ¢u) | afg
AR IGYST BT &6 1470 cm §, AB = 35 cm 3R AD = 49 cm &, df BM TUT DL &1
TS T Do |

C
B
Bl
AR IS ABCD &1 850 d
= 1470 cm?

AB = 35 cm 3R AD = 49 c¢m



AR IgYST ABCD T &=thd
= AD x BM

3CTT, 1470 = 49 x BM

T BM = 147049% cm = 30 cm

AR IqHST ABCD &1 85 d
- AB x DL

3gfeld, 1470 = 35 x DL

I DL = 147035%cm =42 cm

Ty 7.
1S ABC,A TR THBIV § ( ATHA <), 3R AD Yol BC TR T4 g | ¢ AB = 5 cm, BC
=13 cm 3R AC = 12 cm §, I AABC & &0hd J1d BIfOTT| AD Bt aaTs Hit J1d Bifod |

Bl
AABC, A TR JHHITT § 9UT AD YSlT BC TR T &, 3AMIT AABC &1 &%

=12%XABXAC=(12%><5><12)cm
=30cm

G: AABC &1 &30 d

= 125 x BC x AD
sTLrI%IE,30=12%x13xAD

T AD = 2x30132 ;30

_ 60
cm = 6013E cm

Uy 8.
AABC THgaTg AYsT g foRH AB = AC = 7.5 cm TR BC = 9 cm § (3T id &) | AT BC
d® DI %18 AD, 6 cm & | AABC &1 80 d JTd BIGTTIC T AB TF B! SdTs, 37q CE
1 gIt?



Bd
AABC &T &% d
=12%><BC><AD
= (123 x 9 x 6) om

= 27 cm?

AABC &1 83 d = 12§><A|3><m1'€w
gfag, 27 = 12§x7.5x CIAB
d® P SdTs 37T CE

T CE = 2x277.5°2 2

- =7.2cm




